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1 R e 113.01.23 30 4
2 i 113.01. 23 30 4
s 3 113.01. 24 30 4
! 2 4 113.01.24 30 4 6
5 113.01.25 30 4
6 113.01. 25 30 4
7 [A) = 3 113.01.20+ = 10 4
8 [BY 2+ 41 AfEBAEF (Fo8) 113.01.20+ = 10 4
9 (OEEX 1SS 5 Al AGEE D) 113.01.207 = 10 4
10 [DY M+ ¥ FLF Fi(hsth) 113.01. 20 12 7
11 [E1] % 55 ¥4 113.01.22+ = 20 4
12 [E2) iz 6 s S8 113.01.227 = 20 4
2 < LR 13 [r1] u:%:ew 113.01.23+ = 20 4 13
14 [F2] i 113.01. 237 = 20 4
15 [G1] 5 & ,hw 113.01.24+ = 20 4
16 [G2]) Fl#% < 4 113.01. 247 = 20 4
17 [(HEEE 113.01.25+ = 20 4
18 [H2) | i4kg=~ HE 113.01.257 = 20 4
19 OIS 113.01. 26 20 8
20 Bz RERF B B 113.01.22(- )+ = 15 4
21 Microbit Al 4% | # 113.01.23(=)+ = 15 4
22 Microbit Al 4% & 113.01.23(= )7 = 15 4
23 JA1E 3 A2 —Arduino# ¥ T F B F it 113.01.24(=) + = 15 4
24 JA1E L ARET—Arduino# 2R Bt F it 113.01.24(=)~ = 15 4
25 VRE 3 5 5 B4zt 113.01.25(e ) + = 15 4
26 VRA3E B 7 e s 113.01.25(e )~ = 15 4
3 LR 27 R R T BAR 113.01.28(p )+ = 15 4 15
28 PR «ﬂiﬂ"i’r\R 113.01.28(p )~ = 15 4
29 EAR L% S-S Rt Ry HER 113.01.29(- )+ = 15 4
30 EEEEAE 113.01.29(- )™ = 15 4
31 AT T s LS 113.01.30(= )+ = 15 4
32 EEE L T 113.01.30(= )~ = 15 4
33 R R L R 113.01.31(= )1 = 15 4
34 B § iAr 113.01. 31(=)~ = 15 4
35 HBEVISE 4 P T (AsT) 1/24 = 18 3
36 % 3 EV34s E £ F £ (BrT) 1/251 = 18 3
37 4 ER AR (F(AFD) 1/257 = 18 3
38 4 E R (F(BFT) 1/264 = 18 3
39 FUN& & 4 48 (As1) /244 = 18 3
40 FUN# j 4 4 (BFL) 1/26 = 18 3
41 i 2 AT E (AFD) 1/22+ = 20 3
42 Bk EF MR (P EEE AT 1/241 = 20 3
4 IERY 43 B SF AR (P H P —BrD) 1/251 = 20 3 17
44 GE | TP Y ¥ Y (AFD) 1/227 = 20 3
45 GE | TP ¥ 9 (BFL) 1/247 = 20 3
46 TR A AE(F p EE-AD) 1/25~ = 20 3
41 TR 4 *ta(v‘ B %:;—Bﬂ) 1/267 = 20 3
48 1/241 = 20 3
49 1/254 = 20 3
50 1/224 = 20 3
51 1/26+ = 20 3
52 1722p 20 4
53 H Gt 179225 20 4
54 £ et % 1723p 20 4
. R 55 fads § i i 17239 20 4
5 A TEAEL 17 220 20 4 8
57 FERREL TP 1722p 20 4
58 RBBEL T 1723p 20 4
59 FERREL TP 1723p 20 4
s L 60 AR £ 47 1/244 = 20 4
S R A £ /247 = 20 4 2
62 TR I PR E () . 1722p 15 4
6 ki F P 63 FR - PR E LB 17238 15 4 3
64 FRE - P R £ . 1723p 15 4
65 L Y Rk £ 113#1% 259 20 6
7 RN 66 it * Webduino Smart 4B3=f- 5 p 113#1* 3080 20 6 4
67 (EEFHOFT H a3 —mpplEd Ay 113#17 259 20 6
68 APP2% 3+ 9 5 BT 113.02.05 25 4
69 APP@*L##W PET 113.02.06 25 4
3 pAR 70 il L S & i 5 BT 113.02.05 25 4 6
71 TER (4 r]»mfﬂa“:g B 5 PET 113.02.06 25 4
72 Vtuber i #t 4 in % 4 | L 113.02. 07 25 4
73 Vtuber & 5 2 4f in % 3 1 PET 113.02.07 25 4
74 s 4 B mlih A2 e B 1722p 20 4
75 B4 B Rl kD e PET 17229 20 4
76 ks 4 B mli A D dee 1 1123p 20 4
_ 77 - PR KM% E Eib R R T R 17 23p 20 4
9 FAREY 78 - P REASEE EARRAL R 17 24p 20 4 8
79 - PR KM% E Eib R R T R 17 24p 20 4
80 - R E SRR L B AR (EE) B EA 1726p 20 4
81 - DB EHSAPE Y & V5 B AR(EEE) R 17269 20 4
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82 Dm0 3 A 113.1.22 30 4
83 BirEm (7B w4 113.1.22 30 4
84 A AT (% 1) 3 5 113.1.22 30 4
85 AAND (TP w3 4 113.1.22 30 4
86 dpa b gl (%18 3 5 113.1.23 30 4
87 st gl (T4 w3 4 113.1.23 30 4
88 R TE (413 [T 113.1.23 30 4
23 o 89 R FE (7Y w3 4 113.1.23 30 4

10 e 90 Leather Card Holder (% ! 3) 3 113.1.24 30 4 16
91 Leather Card Holder (T =3) T AR 113.1.24 30 4
92 EEEE (1) 3 5 113.1.24 30 4
93 = EpER (T4 w3 4 113.1.24 30 4
94 * RIS (58 3 5 113.1.25 30 4
95 Y AL S (T =S w3 4 113.1.25 30 4
96 s R (5 ) 3 5 113.1.25 30 4
97 b Rk EE (TS ) w4 113.1.25 30 4
98 Aok ey it T 1/234 = 15 4
99 AR R B phE SR T T 1/237 = 15 4
100 Aok ey it T 1/244 = 15 4
e 101 A A AR R R PR 1/247 = 15 4

1 el 102 L A : 1/25+ = 15 4 8
103 B s 1/257 = 15 4
104 % 1/26+ = 15 4
105 8L 1/267 = 15 4

12 Fome 106 EFT TR EY P ATk 1/257 = 20 3 )
107 kE AR kX HT FAE Bt kAN 1/247 = 20 3
108 AL+ A G RETR T 17247 25 8
109 B 1A [ 1924p 25 5
U 110 (2 p) # % 7eds 53D 4 4122 17247 25 8

13 Hfe R 111 AT i 17258 25 4 6
112 (RP) k% %p + B LS 5 8 17959 25 7
113 [EE S 2 17250 25 8
114 B - 1/29+ = 25 5
N 115 i R S (| % 1/297 = 25 5

14 R 116 - AP EL 1/301 = 25 5 4
117 R R 1/307 = 25 5
118 Stop motiontédh & § A1 # e (B3F HAz) 112/2/2 9:00-12:00 24 4

15 HARE R ¢ 119 A% £ TR (B ) 112/2/1 9:00-12:00 24 4 3
120 AP R (BT AE) 112/1/22 9:00-12:00 24 4
121 TS 1/24 20 3
122 TR -3 Wk (B) 1/24 20 3
123 R -3 4 4% () 1/25 20 3
124 -3 W% (D) 1/25 20 3

16 Bacme 125 BLAERER 1/24 20 8 9
126 i i S A NS % ACY) B A 1/24 20 3
127 The po db s HEFR) 1/24 20 3
128 T o d A HEY O 1/25 20 3
129 TR o WS HEY D) 1/25 20 3
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